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Answer the questions in Sanskrit only unless stated otherwise.
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There are four sections in this question paper.
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SECTIOND :

HAISATVI- ST (STISATTT-Teraieg)
(Unseen Reading Comprehension)

T X TARASHITY (TEha § TIACHS )
(Writing Skills in Sanskrit)

ST RTATHRIOTH (ST SN

~ (Applied Grammar)

am ] - ufsdie-srEsiyem (Afearer-saee)

ar ] — R ATy (A U Jifee uies)
Part 1
Part II

‘Reading Comprehension

General Introduction to Sanskrit Literature:

gug: & (SECTION A)

Unseen Reading Comprehension

1. smEifafEd e e HEaueRTET ST TG SR
- Trfafad meie g i e weEt 3 SR depa B ST

Read the following passage and answer the given questions in Sanskrit :

 TRINST :

10 =gt

- 15 g

30 g

35 g
10 gt

10 gt

T T, 3R ik wfas | gERon sy e - i o o, SR,
fopy 2 e T TR A ke, ave et waky, @ wder stueis assht | | waly i |
a9 | FWMR g H uE i | T TIST QU ek, SR Ser R | aw W uh
yay, 4 et amssta | e o= 9w, OF w9 O ety 1 end A
frerg: sy v wqr oify sTame: et | welwT fawTar st wald | 39 €9 — 4 SO
TTT: SR WETeRed, 3TN S A9, dui §rray Sl
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W

(39

TR FTE |

e ¥ & T SR |

-Answer in one word.

(i) oAt A e war S s ?
(i) = e 2

- (iii) @9 e e ?

@)

(®)

®

.(iv) it e Sharfts <hi = TRt ?

oteTeRI SO |

qof e § IR AT |

Answer in a complete sentence,

() Froioirmees: St drqe: i 2
(i) it St o e 2 |

Wﬁ%ﬂm?ﬁﬁm

‘Answer as directed.

() mﬁﬁ%&waﬁqﬁm?
(i) w3 vew fowid f 2
(iii) gﬁ%w%%ﬁww"

(iv) T G O A ... AT e g e e e 7

O W gy SO AT G

| T SRR & fore Wy vivs g # ffau |

Write a suitable title for this passage in Sanskrit.

3

x4=2

[\ TR

2x1=2

ix4=4

[P.T.O.




Tug: @ (SECTION B) | 15 atsT:
HEF TR
TFA W TS B

Writing Skills in Sanskrit

-2 vae W | vaal WE fasms e lﬁﬁuﬁqwqﬁﬁaﬁwﬂﬁ
oS ITIETETE iR o5 g T | ;x10=5
mm%llmﬁawgmm@ﬁ%\mmﬁé%ﬁﬁa@mwwﬁ

- ST H KU T vt @ K-Sy ek o g fafen |

You are Sanjaya. Your friend Vijay generally remains ill. In this letter written by -
you for giving proper advice, fill in the blanks with the help of the words given in
the box and rewrite it.

DTS,
T, fee |
feifor -
i SR
®

Crictl

et TAT S I, Wwﬁﬁaﬁﬁ | 9 IR T e

(i1) (ii1)

ey | o | U SReRyarEn: SR qraEtearEt (.)-ﬂaﬁrawmﬂﬁm
: v . : ;
wafa, Fan: SN 9 IR, § GO WTEE TA | I W S

g
\ ™) |
ST FAT, ST T T HelST 5 Had, ‘fﬁf! AR A g | v
Vi Vil )
FeIaT TATHERT: WIS | '
L it (R o o ot L R R G HH YOTHTSST: (aEAa: |
(viil) . 1X)
LERIREREET
l
(x)
T

| ﬁﬁﬁm'%@%w%ﬁm i, ufd, waan, e, wesm: |
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TR T sTeafafaasremat Rexremt R i g fora : v%x10=5
oI W 5 7T ¥} o A et s § R wigfa oes e g e

Complete the blanks in the following story with the help of the words gwen n the box
and re-write the same :

m .
mmzﬁg:m:memwam|ww
: - i
T A & o A o) | $5%1 WIReRE I I o 7 Wfgay |
11
T Ush: FelcHT o 3195 — BT @ FRHI: T Togen WAl ST WHTH SIEEEAY
1)
'm%aﬁﬁw ) %WW%%IWWW—T%
v
ﬂﬁmﬁgﬁrﬁaﬁmﬁamqmﬁsﬁﬂww ﬁmﬁw'w G et
V1
Wﬁﬂ{&ﬁ@ﬂ%@%’%ﬁiﬂ:ﬁ%ﬂﬂ:?&%l B - 11 SR 1 =
' . (vib) (viii) |
aa WR - S | A R et ST | WEe e g e | O S —
1X ’ .
Ta=germ |
(x)
RSl
WA, wOm:, UfehrEver, @, Y, gEH:, S, &,
I, AR | | -

22/1

FIANGAIST FRTATT TSI TP ST wor Gar) 3t fmaer aviH gee s 1x5=5
frrteriiae vl 1 gerar & ot gl F S § o T gEe) 5 fawe o gl i

With the help of the words given in the box below, describe the quotation *37shie: W
¥g@Ey’ in five sentences in Sanskrit :

:
Ry, T, feam, atfeam, rmaf, 7 avaly, @R, 3feh I, TR,

ST, TSN, T, W, A, RN, IHH, TeEeml, Ha-,
HRTYT:, STERIEH, TN, TR, S |

5 o [P.T.O.




5.

wUE: 7 (SECTION C) 30 a7ET:

SAHIFTATHIIH
Applied Grammar

STYITAREy, JTRY @R Eiadiéﬁﬁﬁ"@?ﬁ: o | | 1x6=6
frferfan ol o Yafea e 4 e wifv
Disjoin Sandhis in the underlined words of the following sentences :

0 “GeaE sl Aga |

(i) ARG L |

(i) o e e

(iv) g o e R |
V) T

(vi) g g ST R 2

ﬁmﬁgmi@%ﬁﬂwmﬁ@ o - 1x6=6

ﬁmf%xﬁaaa@ﬁ@r@:awqﬁ%ﬁmﬁﬂf@m

Expound the underlined words of the following‘sentehces :
() orer e iR g, 1

(i) ‘am, %{Qﬁ?aﬁ TOTEROT SR 7

(iti) T fg vﬁ?ﬁ@mﬁ R SRR, |

(iv) “aq: ufowfa STSn: TvER:” |

(V) “Toru TR R ST ?

(vi) ‘T Tl FETEy Sulawt |



7. aﬂﬁﬁf@ﬁga@gmlwwmﬁdwﬁ—mmmﬂﬁw: | ’ 1x8‘=8
Foeorfiar et 3 e 3 s wepfr 3 e e e i sivgen ey e iR

Fill in the blanks in the following sentences by adding sufﬁxés to the roots and words

given in the brackets :

() o AR

| (37 + =)
(i) s gl e g)
(iii) ﬁém*ﬁ:mﬁ@@ﬁwmml(ﬁ¥m+w>w
(iv) o ! fowgan aeg ;_;_*axﬁql (avn+m-1+aa).
() ewgeFE___ @Wl(‘i‘?fﬁ) |
(vi) wremtqd ST | (574w
(vil) weeTE 37 g T | (3R + T, + )
(viii) srem: ____ W (0 + R+ )
8. oiffey ey S ofef B | | 1x5=5
et et o et e Gt o s i | |

Write the suitable verbs according to the subject in the following sentences :

() e (gt et
(i) ghemmEE ()
(i) wmwmate___ e Wk |(waf / waf)
) TemmTE_ (e s
(v) wTemEmmgEgfies ) (Fesea/ fesetR)
: amaT(OR)

22/1 ‘ 7 r : [P.T.O.




Frgifeiaay arey faers: wg weoman: fastaorastiv diewe 1x5=5
Feeafertia arat o Fasteat 3 amer wrosp Ry fersiwor oe 6 ifen - '
Add appropriate adjectives from the box, with their qualifying nouns in the

following sentences :
() e SR s oy fw
(i) s, e T g ?

- (ill)  FTH 3T T T |

(iv) %mﬁm____g@mﬁ |

v) __ ST Gavterages J19Y |

Heul
3, 3T, SfcerRAviE;, amam;mvlsivr n

9, aTenfeiEny AR HISHY: T8 SIS g e @ 1x5=5
fFrfefia aedl & s o e e s & arer Sugea faufsa o T e e w@E @ gl
T
Fill in the blanks using appropriate case-endings -(fqufer) with the words given in the

brackets in the following sentences :
() wEER (o) e T |

(i) sl () u o o wom: v |

(i) R () s 7
@iv) wxﬁfamarmmﬁmw____ (af) |
) __;_._(fﬂ%?ﬁ)‘léﬁimﬂﬁﬁ'

22/1 8




@ve: ¥ (SECTION D) 35 g
"t (Part @)
ST ST
qfaior-sraataT

Reading Comprehension

10.  srnifefad e, e, e @ ufsn qRERaT WA o SR ;-
Trrfoia meier, TeiieT T 1At i ugeh I UX SR WeeT o Hhe § STR JINT
Read the following prose, poetry, drama passages and answer the questions based

on them in Sanskrit :
(F) 113!131:‘ 4
‘T AT FFUThe AT S W] A% SN Y MashR: 7 Fel: W dfg
WIUHHTSTET: ST TS 7 ST e T U YT § T Wl Few o | i 9
wfa qaifegar giet 365.25 a uided wofa | smyfes: sk a1y ade o=t 1
AT :
(31) UHTRT IRA |
T 915 § TR ST |
Answer in one word.
(i) AWRA FLg SMI=HR: Fel: 7
(i)  gfet & wla afvemta 2

x2=1

[ SR

@)  oTER SR | | , . 1
| [OT TR ST A1
Answer in a complete sentence.
HIUTRE Fiel i W HEqot 7
(@) TSy S |
- T s i |
Answer as directed. | , ‘ -;- x2=1
() comfe =t e wguE e 2
(i) wremEer 3h Tew ok feretmags wge 2

221 : 9 [P.T.O.
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(@)

Q)

®

(i)  qaifrper g o e fr 2

(i) 7. fawe sfa @ = 2

TR

_ R0 RGBT T 11

A

(31) THIIHA STA |

C))

)

TS Ieg § IO BT |
Answer in one word.

) W"ﬁﬁaﬁ@ﬂaﬁ?

(i) G Fol wigem ?-

qﬁmﬁqml
Ut e | 3T QN |

' Answer in a complete sentence.

¥ e P A T 2

IR TR |
AT SR ST |

Answer as directed.
() qE T e i o v ?
(i) “omgen; 3fr ot fof e, ant e 7

@ () owE g v f e e ?
(if)  gume: gf foeore fosd form ?

RICCINE

‘(ufer AeeEa =)

160

1x2=2

Ix2=1

[ AT

1x2=2

| O YA, e wﬁmuﬁamﬁaﬁwgaqawm&r |maé=mmqiﬁqn
(aau%mﬁr%rmﬁ‘rm a;%ﬁawmﬁz’%a)



1.

Teed; — (S Frvaw) ot | siied T A mekaH: e 9resand R |
- fogme: - aangmﬁﬂnmwaﬁnﬂq¥ﬁﬁy:naﬁaﬁm:ﬁwﬁvxmﬁmaaﬁw

SieETerE: 39 YEe: TONals g SREWE: |

EUEGHERS aimagaQr%mqaﬁﬁmﬁ:;gwwmprggmnaamvrawmﬂzﬂ

wfersifer | e —
@ & grErE T FEEERE S P
WA

(37) THRT I |

e v ¥ IO ST

Answer in one word.

() gt oy B e 2

(i)  SroRe HE R S A ?
(&) golEERE TR |

Tﬁaﬁaﬁaﬁzﬁﬁmn

Answer in a complete sentence.

ﬁmﬁﬂaahﬂmtmvnﬁaqsaﬁMﬁ?

() TSI I |
TR ST 1
Answer as directed.
(i) ol 3 v favsd fe ?
(i) FomsE 9 5 ores wgE ?
@ () v o i e e 2
(i) ﬁwmqﬁ%ﬁmjmavﬁvréﬁqmmzmﬁﬁsmﬁawyﬁq?

ST FRAT 3TRA |

IR Tl T SR AT |

. Answer the questions as directed.

22/1

(1)
(i)

I U T SR 2 wew TR & 7
= Tt . s SfeTion:” g % % i et 2

11

.
2x2=1

1x2=32

C2+2=4
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12 mwmwwﬁm%@a | , 2+2=4
T aier 3 T et et et ° @ o e o s s e | |
Pick out the correct explanation of the following lines and re-write the same.
() O e e
C(F) TN HE TR S |
(@) T ¥ = 9 I 4@ |
(M) o s FemeRl SR, 9 w31 it watg |
(i) g g fer geega |
FUR e DR Tk
(F) SieEmEn ar oo sald, 3@ T I, Ue HeTYEsT: T A1 STde shicT,
gfr aotafr |
(@) mwwmmmawmmwﬁn
(M) = i gRmEn: SR ge, @ e ek, seges: 7 v |
3t (OR) o
STeifeRaee T v e HeesTe: R g forea o 1x4=4
Tt wer & for faw o svamed ) weeen & fiu o visst § qof oes g fefaw |
Complete the central idea of the given verse with the words given in the box and
rewrite the same :

Tgont sfireeeh st = e |
, Tty gdl 1 Aifesw e |
_ ‘ﬂTaT%f:
(1) (ii) (iii)
E ) T vafd | T QST SRR SE: T | . '
ivy ) )
S
3T, ST, 3T, TR |
13. memmg%@a : 2+2=4

frefefiad &t ettt & fRu e sverdl et wmt =t g ek : fofam
The prose order renderings of the following two verses have been glven below, fill in
the blanks and re-write the same :

22/1 | | 12




o

14,

(31) wens:
“ferermran e AmrEty g |
& 7 vt fagtat Sewe ey |0
F_q:
RELS Y EREIEE g fagi: - o
T Oy i

' tr@'ff'dl
(&) =

“FRTRIATO: Y,
e |

afseesan g,

| Wﬁwfﬂfaﬁéﬁn’

I B

T gy T Ty ST ey S | s

T AR : ' ' :

m%rﬁiaamf T IR W W T §E Ao gl O e -
frrfefian <o e o SR < e W T ¥ SR T A e ﬁaf@q |

- Match the following sentences of column ‘& with the suitable sentences of column
‘@ and re-write the same :

‘m’ ‘@-’

(i) STOT: T T oA mmﬁgfﬂwﬁﬁl

(i) s e Al I A L s Gl
(iii) m{@aﬂi oW e wlfmE e |

o221

(iv) 373" g R T HAEHRHISHH |

13 o [P.T.O.
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15.

W@@a@g@%ﬁmmwmﬁ@%@ﬁ Ixd4=4
Mwmﬁw%m%wwwmw%f@q

Select and write the appropriate meanings of the underlined words in the following
sentences :

(%) STIETRN Sy o e ¥

16.

22/1

() o wEw,
(i) sTEw FU,
(iii) ST SR |

() ‘?{WW wAsy e ¢
() wewd b, |
(i) ST I,
(iii) Do SR |

(@) 3T TG GUUERT: AR

(1) e,
(i) g g,
(i) g TEnTE TS
(@) R 7 whaTraq S ﬁsqaﬁm vt
iy EARCrIGE
(i) e,
(iii)  oREsE-gET |
@ve: @ (SECTION D) 10 Zrg:
AT II (Part II)
[T WEpe ifeed uFrvm
General Introduction to Sanskrit Literature
sy S o gete A foree - | Cax10=10

formffiae shierll o S, prer e el 36 PrrerER A feffae

Write about the place, date and works of the following poets as per the directions :
EEEH ‘
(@) () e,

(if) W,

(i) s, FeIg T P

- (iv) 9@ |

14



@ @O gk

(ii) fa‘ml‘s]'qt ‘ FHE |
(iii) <o |
@ () 3 v
(in) v, SR | |
(i) g | g
a1t (OR)

(31) TefciaeTRYy s wRi fawn Rererrgf: feean :
\W@ﬁmﬁﬁwﬁqﬁﬁwﬁaﬁwﬁaﬁ{%ﬁﬁq
. the box :
(i) S-S __ ARA TE TIH ?
(i) e qT: |
, - (i) romTEETERE s |
I (R S
) (v) STt TRk e |
i o (vi) __ AeE veismaqgeead sifaufesT |
(vii) vouaR wEs: R
(viii) Stemed @] F5%g ke e |
(iX) TERETEAEH 379 o |
(x) wfammwe: e — ety sk |

- ww

forsoperet, ST, SR, T |

(@) TR ve faiv: fore |
U ! ute fastaret ot fafay |

Write five characteristics of poetic-literature.

22/1 o | 15

5x10=5

Fill in the blanks in the followmg sentences w1th the suitable words given in

1x5=35




